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Example Candidate Responses — Paper 1

Introduction

The main aim of this booklet is to exemplify standards for those teaching Cambridge International AS & A Level
Sociology 9699, and to show how different levels of candidates’ performance (high, middle and low) relate to the
subject’s curriculum and assessment objectives.

In this booklet, candidate responses have been chosen from the June 2021 series to exemplify a range of answers.

For each question, the response is annotated with a clear explanation of where and why marks were awarded or
omitted. This is followed by examiner comments on how the answer could have been improved. In this way, it is
possible for you to understand what candidates have done to gain their marks and what they could do to improve their
answers. There is also a list of common mistakes candidates made in their answers for each question.

This document provides illustrative examples of candidate work with examiner commentary. These help teachers
to assess the standard required to achieve marks beyond the guidance of the mark scheme. Therefore, in some
circumstances, such as where exact answers are required, there will not be much comment.

The questions and mark schemes used here are available to download from the School Support Hub. These files are:

9699 June 2021 Question Paper 11

9699 June 2021 Mark Scheme 11

Past exam resources and other teaching and learning resources are available on the School Support Hub:

www.cambridgeinternational.org/support



http://www.cambridgeinternational.org/support
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How to use this booklet

This booklet goes through the paper one question at a time, showing you the high- and middle-level response for each
question. The candidate answers are set in a table. In the left-hand column are the candidate answers, and in the
right-hand column are the examiner comments.

Example Candidate Response — middle Examiner comments
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— Answers are by real candidates in exam I Examiner comments are
— conditions. These show you the types of answers for alongside the answers. These
each level. Discuss and analyse the answers with your explain where and why marks
learners in the classroom to improve their skills. were awarded. This helps you [~

to interpret the standard of
Cambridge exams so you can
help your learners to refine their
exam technique.

N J

How the candidate could have improved their answer

The candidate needed to ensure that their development points do more than simply repeat the identification. This can
often be achieved by an appropriate example.

This section explains how the candidate could

have improved each answer. This helps you to

interpret the standard of Cambridge exams and
helps your learners to refine their exam technique.

Common mistakes candidates made in this answer

+ |dentification points were sometimes undeveloped.
+ Over-long answers for what is a short question.

Lists the common mistakes candidates made

Often candidates were not in answering each question. This will help your
awarded marks because they misread or learners to avoid these mistakes and give them the
misinterpreted the questions. best chance of achieving the available marks.




Example Candidate Responses — Paper 1

Question 1

Example Candidate Response — high Examiner comments

\ One. gosiking nfofmad scackien_uooutd be. Yo gwacd |
OB specksplael fof wrtlag o poiat Yo C\vim R e “ Clapping is the identification

Oac_mﬁﬁma AJ_QP@XQ\_G(N\EQ _A_WA R \'o\my 1@\4_0 point which is developed in two

s Do ausoy_fec \'\cm\nq aod atede o wags: first (‘;V';h a”f examplte, "
and second by reference to the

term ‘positive sanction’. Either
development would be sufficient.

o Removal of the child’s phone

is the identification which is also
developed in two ways: via an
example and also by reference to
the term ‘negative sanction’. As with
the first identification point, only one
development is needed to gain the
second mark.

Total mark awarded =
4 out of 4

Example Candidate Response — middle Examiner comments
CA) L T lnXovmal o cimal %2 ne i cem S aie.
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am ot C Nlaeny Lamgusge ov “Nove UM oFf | | and in this case, the description
A e s e cxc . | given shows that the candidate
) o understands the example.

Total mark awarded =
3 out of 4

How the candidate could have improved their answer

The candidate needed to ensure that their development points do more than simply repeat the identification. This can
often be achieved by an appropriate example.
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Example Candidate Response — low Examiner comments
NI e kme)Sotel Sonchons ook be any

Sonclit,_vncanton A0 Saneoos_. DR 00 ko Ne,
\m OOt SERK_ TS M_&Qg\@,\_ S \\%m 0 0 The identification mark is
'W«\ PRI W S Sive DoWee, & awarded for the use of force, but
4 Ny - ) there is no explanation given.
\m\kv% o m&qs__Q_\&,\\.M -

e An identification mark

is awarded for withdrawal of
privileges, but no explanation is
provided.

Total mark awarded =
2 out of 4

How the candidate could have improved their answer

The candidate needed to develop each identification point by describing how the sanction encourages people to
behave appropriately.

Common mistakes candidates made in this question

+ Identification points were sometimes undeveloped.
+ Over-long answers for what is a short question.
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Question 2(a)

Example Candidate Response — high Examiner comments

27

(UD

PCO.GICOLRACS 00E SOCITCS YOGS A Dty

140, COROIBAL S0 Th 10 et TRRTQICLEL o) Ao clgualy|

0 ISR e CheSIderaion., ore prachel
SAGOCLNCH Coun RN ol ctrogeatchnekhocl |

@ & fundhloy. FLatina WIS o opodiHonpaskontice SCope |

OO NEEONThH o= RO 40 pe compliC O HDOUT

00y, ¢ OUS 8- eurdiny), t-aoud] e dieel) (o

VL

edm{e e AGE resedith gemocts hod- cpietin-tosandd @
OF- dfiscipans S’i\)dl&zé%‘\ﬂ}, gtk digienioins

L povdhe.

CRUOWEE W SIS b0y s utew DAL anolto

QO pCe oeonUd-se yatengug, |
1o €0l aoudl wind serk o quesonNOUIes e |

Wbelr pd) et At astnament-can by aiven

1 MG 1MLET, AT pieheal enOSiderzbtdn

(0D

A TR 0L e ROV of pesealrein 0-kiod §

13000, TN @I ORIONCLYNe-T pe et Stody greoiiy
VRCOSL_SHTe nenedS FAe. muth_ippnaet whah

| @ oo xuse fontied cn-fioreweod WQTY repchfor

S-S0 SUVYS ile $NoNe with plinpg e
oOULk (AW waﬁn £OC_100gtucid iefudios, Tyre

OGSO ORBENLL-re. AHY 0@ esairch Zasto go

{000 RS
(4 )

€@ The first factor identified
(funding) is clearly explained in
terms of the impact it has on a
sociologist’s ability to conduct
research on a large scale.

o Relevant sociological material
is selected (unstructured interviews)
and is used to support the point
that interviewers have to be paid

for their work. This is usefully
contrasted with a low-cost method.
For this first practical factor, the
candidate is awarded 4 out of 4
marks.

o The second factor identified
(time) is clearly explained by stating
that some methods take more time
than others.

o Relevant sociological material
is selected (social surveys /
longitudinal studies) but the
explanation of how it supports the
point is not sufficiently developed.
For this second factor, the
candidate is awarded 3 out of 4
marks.

Total mark awarded =
7 out of 8

How the candidate could have improved their answer

By showing explicitly how the sociological material introduced in their second factor (longitudinal studies) supports the
original point made (time).
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Example Candidate Response — middle Examiner comments
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as a practical factor although

N SN S the explana’ugn cquld be cle_argr.
+ ’ . ' Relevant sociological material is
&L-;%J.'.%\) AN AR ARL S e BV A A A e SN S . . .
introduced (questionnaires and

PRSP NV TR St %.S):L‘C)_%_’\Q_C_\r_x‘og‘%,fe___}_v_ﬁ@n\e

SRS _gpessionmaleeSSeSaneasy S-S5 | surveys) but there is no attempt to
St : e et S | explain how the material supports
e pesesamemisre | | the point. For this factor, the
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e Funding is correctly identified
as a practical factor, but it is not
explained. ‘Interview’ is not credited
as relevant sociological material as
a type of interview is not specified.
For this factor, the candidate
receives 1 mark out of 4.
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Total mark awarded =
4 out of 8

How the candidate could have improved their answer

* By greater adherence to the question’s rubric, i.e. more careful explanation of the practical factors identified.

* By being more explicit in the identification of relevant sociological material and in demonstrating how it supports the
original points made.

Example Candidate Response — low Examiner comments

Ll a | Ow _peactial  fackor  Shat . ndluence _chwoige, sf a Two factors are accurately
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e Guﬁnhﬂﬂop what s buin vo’cbﬁal /nmLL//’ ___| | andthe ‘money needed". Neither
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ot V2 3t s _bangr iscace d—a— awarded 1 mark for each factor.

Total mark awarded =
2 out of 4

How the candidate could have improved their answer

By attempting an explanation of the accurate knowledge that they have demonstrated.

Common mistakes candidates made in this question

Many candidates demonstrated knowledge of the topic area but did not address the question directly. To achieve full
marks, a response must: identify a characteristic, explain it, select relevant sociological material and show how this
material supports the point.
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Question 2(b)

Example Candidate Response — high Examiner comments

21 b les Ouvert ()bmfva#on IS m }o@n The.
researcher _ oinS a__avpup._and 8 ﬁ
nonss_ They _are. \bejaly rfream/l@({ 0n€
limdation o th's A/OIM he. '}-L) ;
researcher _cant  aet imto SC[I/P?L/(/é CP@B
or __orpanizations Y- s IMDOJ‘C/‘/E/F, ‘/UU /
reSeardd Secrel aangs or leudts | _H;_%,_
'dn’-F want 1oV b8 ohserved whil
(ASwo._overt__ohsenvalion. “ aTwo clear and distinct
4 . { | limitations were required, but in this
Another lmdaton  of  overt abservadisal | answer the candidate only identifies
~ p' shserver evcﬁﬂ\/_f\ \/\/)’Io@vek N | | one limitation. 2 out of 3 marks are
heine  receare ed__ fpows Hey  our bah awarded.
obsetued s oy imighd= acl— Nbterenty v
“'Hﬂaﬂ ’}\mn/ +’§’)-&[/ V)O}Aﬁ”l&ﬂ\/ 40 )/Al&‘ ‘MQZFM,T
and_lowers  Validts i’ Fhe € e__ OForthe second limitation,
/ " | all three elements are present:
a limitation (the observer effect);
a development (people act
differently when observed); and
an explanation of why this is
a limitation (because it lowers
validity). This means the candidate
is awarded 3 out of 3 marks.

Total mark awarded =
5out of 6

How the candidate could have improved their answer

With the first limitation, the candidate omitted to explain why or how access problems may limit this method, e.g. a lack
of representativeness.

10
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Example Candidate Response — middle Examiner comments
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a This response makes the same
point twice, i.e. it identifies the
Hawthorne effect as a limitation and
explains it in terms of participants
acting differently when observed.
As such, only one limitation is
rewarded. The most convincing
development of why this is a
limitation of this method is that it
decreases validity. The response
receives 3 out of the 3 for this
limitation, but 0 out of 3 for the
second one.

Total mark awarded =
3outof6

How the candidate could have improved their answer

Two clear and distinct limitations were required but, in this answer, the candidate only identified one limitation
(although they did receive 3 marks for this point).

1
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Example Candidate Response — low

)
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Examiner comments

“ Only one limitation is identified
(‘may act differently’) but there is
no real development of this point.
The reference to ‘altered results’

is too vague to be rewarded. The
response is awarded 1 out of 3

for this limitation (and 1 out of 6
overall).

Total mark awarded =
1 out of 6

How the candidate could have improved their answer

The candidate only made one point so could only achieve a maximum of 3 out of the 6 marks available. The
identification point they made is a valid one and there is some evidence that this could have been developed
successfully had the candidate taken greater care in explaining their point.

Common mistakes candidates made in this question

* As with Question 2(a), many candidates demonstrated knowledge of the topic area but did not address the
question directly. Often responses identified and explained a limitation but did not then go on to explain why it is a
limitation of the method.

* There was also a common tendency for candidates to mix points together using the same material to support both
limitations, which should be avoided.

12
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Question 3(a)

Example Candidate Response — high Examiner comments
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a The first point identifies
changes in domestic / childcare
roles. Sociological material is used
in support of this (‘new man’ and
postmodern theory.) Although rather
slight, the point is developed.

e The second point identifies
the role of government policy

in promoting change. Equal

pay legislation is used as an
example. The point is relevant but
underdeveloped and less focused
on men.

e The sociological material used
is appropriate but not always fully
focused on the question.

Total mark awarded =
7 out of 10

How the candidate could have improved their answer

* The response contained one clear and developed point and one relevant but underdeveloped point. The answer
was concise, and the sociological material used was appropriate, but more depth was required.

* In relation to the second point, there also needed to be greater focus on male identity.

13
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Example Candidate Response — middle Examiner comments
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Total mark awarded =
4 out of 10

How the candidate could have improved their answer

The candidate made one clear and developed point. The first part of the answer lacked a direct focus on the question
and could only be seen as general support for the point made in relation to the impact of feminism on male identity.
This approach limits the marks that can be obtained. Two clear and distinct points are required.
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Example Candidate Responses — Paper 1

Example Candidate Response — low
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Examiner comments

c There is one underdeveloped
point made; that men are now more
domestic and involved in childcare.
The ‘new man’ is mentioned but

is not accurately explained or
supported.

Total mark awarded =
3 outof10

How the candidate could have improved their answer

The candidate made one clear point, but it is underdeveloped. A concept is mentioned but this is not explained and no
sociological material was used to support the point. Two clear and developed points were needed to obtain full marks.

Common mistakes candidates made in this question

* Many candidates only made one point in their answer. To achieve full marks in this question, candidates should
provide two clear and fully developed points.
* Many candidates’ answers included lengthy historical descriptions of gender roles and did not focus directly on
changes to male identity.
* Not all candidates used relevant sociological evidence to support the points they made.
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Example Candidate Responses — Paper 1

Question 3(b)

Example Candidate Response — high

Examiner comments
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a The point is made that, despite
a superficial change, men remain
‘the root of all evil’ and continue to
dominate. This is identified as a
radical feminist position.

o The point is developed

by reference to the continuing
influence of parents in shaping
boys’ identity — as breadwinners
and as being unemotional.

Total mark awarded =
5 out of 6

How the candidate could have improved their answer

This is a good fully developed answer. However, the candidate could have made better use of relevant sociological

material.
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Example Candidate Responses — Paper 1

Example Candidate Response — middle Examiner comments
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____0_ Ug’%? ﬂ(} Ly //;2 (/Z éﬁ%yﬂﬁ(%?%i argument against the view, only

one point is rewarded. Both points
have equal merit — they are both
clear arguments but, considered
separately, each is a little
underdeveloped.

Total mark awarded =
4 out of 6

How the candidate could have improved their answer

The candidate should have focused their time and attention on one argument instead of two, as the question required.
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Example Candidate Response — low Examiner comments
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Total mark awarded =
2 out of 6

How the candidate could have improved their answer

The point made was sound but needed more development and supporting sociological material. The candidate
needed to give examples demonstrating that change in male identity is minimal.

Common mistakes candidates made in this question

The most common mistake with this question was the tendency to give more than one argument against the view.
Only one argument is required and only one will be rewarded. Attention should therefore be focused on identifying a
single point and then developing and supporting it with relevant sociological material.
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Question 5

Example Candidate Response — high

Examiner comments
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0 The candidate identifies the
view in the question as linked
to positivism and the scientific
approach. Key concepts and
methods are introduced.

e This paragraph takes a central
concern of positivism (value
freedom / objectivity) and shows
how it can be seen as a strength.
This is illustrated via a relevant
quantitative method (experiments)
and sociological study (Rosenthal).
This is awarded marks in AO1 and
AO2 for knowledge and application.
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Example Candidate Response — high, continued Examiner comments
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e The argument supporting the
view continues by showing how
quantitative methods are reliable.
This is well developed and effective.
The concept is carefully unpacked
and illustrated, and there is a direct
focus on the question.

o Here, the interpretivist critique
of the quantitative method is briefly
outlined, but this section is rather
undeveloped and juxtaposed.

e This section provides some
good evaluation of quantitative
methods and, in particular, argues
against the view that these methods
are objective by reference to topic
choice and funding.

6 There is a final weighing up of
strengths and limitations and the
candidate comes to a conclusion.
This is not fully developed but

is awarded more AO3 marks.

The responses contain a range

of points, some of which are
detailed, and there is good use of
sociological material. The evaluation
points are explicit and direct.

AO1: 7 out of 8
AO2: 7 out of 8
AO3: 6 out of 10

Total marks awarded =
20 out of 26

How the candidate could have improved their answer

» This was a good response, but it was rather slight. Points were fairly detailed, but there wasn’t a great range

provided.

* The evaluation was explicit and accurate, but also rather narrow.
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Example Candidate Response — middle Examiner comments
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’ * | identified (practical, reliable and
representative) and are linked
to the positivist approach. More
development of each point would
improve the answer.
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Example Candidate Response — middle, continued Examiner comments
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reference to science and agency

but needs greater development.
Overall, there is a range of
strengths and limitations, but the
approach is list-like and lacks
development.

AO1: 6 out of 8
AO2: 5 out of 8
AO3: 5 out of 10

Total mark awarded =
16 out of 26

How the candidate could have improved their answer

+ The candidate introduced a good range of ideas, concepts and methods, but the points made were nearly all
underdeveloped.

» There could have been greater application of the material. Only one quantitative method was applied to the
methodological concepts.
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Example Candidate Response — low
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Examiner comments

0 A basic overview of quantitative
data is given but without links

to sociological approaches or
methods. The concept of validity is
mentioned but not developed.

o A contrast is made with
qualitative data, but this is not
developed. Credit is given for a
two-sided approach, but the level
of knowledge and understanding is
low.

AO1: 3 outof 8
AO2: 3 outof 8
AO3: 3 out of 10

Total marks awarded =
9 out of 26
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How the candidate could have improved their answer

+ The candidate had a basic idea of the shape of the debate but there was little reference to key concepts and
methods.

» Evidence of a greater knowledge of core sociological methods and their attributes would be the base line for
improving this answer.

Common mistakes candidates made in this question

Many candidates usefully outlined the theoretical context for this question (positivist vs interpretivist approaches) but
sometimes this meant that they lost direct focus on the question.
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